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Exam No:

Section-tr

\ffrite a*onym of ACIif . Explain ACID propert).' in cietail rvith suritable example.

\Yhat is the role cf quer-v r-rptimizer? Explain how cluerv cost is measllre.

OR

Explain view seriaiizuibiliry, with proper exan:pie.

Wtite anrl expl,atn l:a.sic steps inr.olved in procr:ssing a query^

Explarn iocking protocol u'here each transaction issue iock ancl unlock rectuests in
phases.

what do r,.'ou mean bv cascaciing roliback? Is {-,ascacling rr:llback good or bad for
ciatabase systeirrl llou' cai: ."ve avoid cascad.ing rallback?

OR

Explain l"fultipie granulariries locking protocol for ensuri.ng serializabiiity.

Explain recoverable schedule and non-recoverable schedule rvith proper example"

Define following terms:
e Savepoint
r Explicit cursof
c ToISOPEN
e Raise_applicarion_error

What is the use of wait for graph? Explain with suitable exampie.

\X'rite a PI,7'SQL code using cursor for loop tc display NO, NAN.IE. CITY of first
three rows. Use tabie Empmasrer (I{O,NAME,CIT9.
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Q.1

Q.?

Q.3

TOTAL MARKS: 60

(1) This Question paper has fu'o sections. Attempt each section in separate ansrver book.
(2) Figures on right indicate marks.
(3) Be precise and to the point in answering the descriprive quesrions.
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' ^rnctior, that is ''n'orl: as simple calculator'

fBI Write a code to. tt:t:t, pYtqt 
l::-1 1 ,

Useopera to rhKe- - r  )  1  )  I  '

tcl V&rat is the use of function sqlcode and sqierrnr in pii sql'

,ts** End of ltaper #*

Section-II

Explain folio-"ving terrns in shod:

o stable storage

e Buffer block

r CheckPoirrt

Explain seri'er system architecture in short'

OR

Explain tlarisactiofl sen'ef process structure with proper diagram'

'rVhat is iog tlased recovery2 Explain deferred rlatabase modificauon

proper exarnPle'

JixpietLr t,',iicrving tenns in shott:
^ 

" 
Pags shipping verstls item shipping'

* Data cachirrg

e ilk:bai "':atrsacdon

* Lock cachir'g

t t s ] V , , h e t i s t i : t i r r r p o r t a n . c e o f d a u f r a g n r e n t a t i o n ? L f i s c u s s v a r t o r i s B , p e s o f r i a t a i 6 )
ftagmentation'
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Discuss hc'w ZPC protocol responds in various t"pes of f"ailures'

V,hatdoyoul"neanbvffanspatencyinclistributeclt]atatrase?Dtscrrssti]e\'arlol-is
;;;';;;.ies and it' i*po't"t'ce in distributed database'

Write a pl/sqi code to perfornr insTt'tll:*' delete: c'n table Etrrpmasrer

0{O,NAI\@CIT$ 
during office time onty'

*Consider oflice urne is ldam to 5 pm on h{onday to Fridav'
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